7.R2 (Fall 2018)-f18e-p December 13, 2018

Last day's Work: p. 440
#2,3d, 4a, Sab, 6a, 8%, 9%, 10b, 12alc** DO 12 ¢ LAST.

*as usual, set up LS/RS separately

**for 12c, although using the quadratic formula yields the solution, the final
simplification process is difficult. Instead, expand the LS, then “factor by grouping.”
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This is an alternate solution to 4a)
It works, but as you read it you will see that it is not as good a choice.
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P-440 12, Solve each equation for x in the interval
0=x=27.
a) 2sinx—sinx—1=0
S sin x
b) tan” xsinx — =
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d) 25tan’x — 70 tan x = —49
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P-440 12, Solve each equation for x in the interval
0=x=2m.
a) 2sinx—sinx—1=0
sin x

b) tan®xsinx — =
) c052x+( 2\/_)cosx—¥:-3 9\ _,(
Q(> d) 25tan’x — 70 tanx = —49 7
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